Notes 1-4 :
SeclH Graphing Equations Part 2 Unit 1

Warm-up: Graph the following equations.

1._y=3x+Q 3.x=3

2.y=3 4. y=x+3
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Ex 1: Graph each equation.
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What if it isn’t in slope intercept form?

LTokte y (e bry) 2 AniBy=C

Standaoxd Form
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Ex 2: x and y Intercepts:

You are planning a dinner party and have $20 to spend on the
meat. Chicken costs $2 per pound and beef is $5 per pound.
The following is an equation to represent how many pounds of
chicken (x), and how many pounds of beef (y) you might buy to

spend exactly $20. 2x+S5y=20
PrrBy =C
A. If you don’t buy any beef, how much chicken can you
buy? Graph this point on the graph below. What is this

point? (O bs of chicken NE

B. If you don’t buy any chicken, how much beef can you
buy? Graph this point on the graph below. What is this
point? N

of beef
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Ex 3: Find the x and y intercepts and graph.

A. 5x+3y=15 B. 2x-3y=6

x-intercept: (3 ,©) x-intercept: (3 ,0 )
y-intercept: ( 0 , 5 ) (y-intercept: (D ,-17)
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